AP PRYSIcs & Jj WersHeeT R.2 l SeldTions

Fnveap®

2

g} v T Uy —m>
i ‘—‘FL ’?F

i ] B

bo \2
<STEP STee
BB 4 307 P 2= e,
Use Pived @ lefd , 5F-92 = wy&"o
T = cFsine (eC:qc' th) = SRE.F.
¢ ol

AO)r 2(12) -y 1) = o

BO e = =N G

'
(‘(\: O.S(om}

2) ff 8 < 2= AL
E V,Fm Fs_ 'Fv_\ =0
7777 /s;o./, \\ En >,M3 F&' ‘::A (S§l1<>
i K}
0
S < ';%j g X s FE TG
6 790

P\HIO‘" @ (Do"’j'bf"‘

o = L((zb—o)squo' ¥ %(35(6933%(“‘—\6 =Bty
g = GREITY & RS NIg — (o.tg(as
[Fw = 580,72 (=) o l




o

e Ho —

3) 3o M O -
’ i
vl A v
oo 200 Sto

{

US?Y\A[‘ "'bf\aloc (Ck\'\’\\b\\“\’ could use Xm>

2T = K pivek b cabe o
e =9
[D(?A:o} 4 20(%:») — P(ﬂo) &= o

16 000 :P(?oc) GU A = T e

e sm e [Toenl T

L‘) %°° oIS
O- o )
== O.lp po —» F\-\

Pz{\ m‘\" ~osSs e

b Z_m(‘q‘ Cf—br Poﬁr\l' mu38¢8)

 ————

e L LT T O 1 )0.0‘I’Z, l::\m"

et S

AP PHYsICS C«j We bsheel- 8{15 G Ts Ra.2 |




AC Prusics q(j WeBsneeT 8.2 CenT Dy 3

Anvean

&)
/t':_l.e( ituri-—sdhation) _ &8

T-(oadg(-oust) * =086 1=

-k >
’/it o 15 m./\l7 T kT iuql_{m
sinlend bt ,[-\uru

TS ST W ka\rc Fo

o-S3ome 9p° o-aﬂc)\.&

e T
Y
‘DUF wWe o.-s\\, nee&&
+'°’“°L_U$ S we ') et
Ose  dha Codivs.




